\
1050103 ( NL2400 light KOKOONPANO) S I A R K
DESCRIPTION .

by LAMETAL professional

ITEM NO. PART NUMBER QTY
1 2500467 NL2400 LIGHT siipi vasen 1
2 2500466 NL2400 LIGHT siipi oikea HITSAUS 1
3 6001125 TERAMEKANISMI 1185 MODUULI 2
4 6001121 NL light kaddntérunko MODUULI 1
S 3000133 NL2400L TASATERAT ]
6 6001120 Tassu light MODUULI 2
7 6001122 NL light keskikumi MODUULI 1
8 6001009 HEIJASTIN MODUULI 2

==

=/ )
= \,—»

\ v

—~ |1




6001125 ( TERAMEKANISMI 1185 MODUULI) S I A H K
ITEM NO. PART NUMBER DESCRIPTION QTY
1 2501146 TerGlappurunko 1185 HITSAUS '
2 8352074 Nyloc-mutteri 985 Zn Nm24 -036824 . 2 by LAMETAL professional
3 8352105 Seeger D25-2 HD akseli Din 471 S355J2G3 8
4 8351006 Jousi 11+75+200 ig? hiotutpadt (nl Light) . 2
5 2500065 JOUSI ALATUKI 2
6 8352071 Mutteri Din 936 Zn M24 -031924 4
7/ 4500883 TerGrungon tappi 25-123 4
8 2501144 Joustinakseli Light 2




6001121 ( NL light kadantérunko MODUULI)

ITEM NO. PART NUMBER ] DESCRIPTION QTY.
] 4500171 Liukulevy PL20 270 x 170 S355J2G3 2
2 8352025 Jousisokka Din 1481 8x70 -04758 70. 2
3 8352151 KUUSIORUUVI 933/8.8zn M10x20 . 2
4 8352144 KORILAATTA DIN 9021 Zn M10 x 30 M10 DIN 2021 . 2
5 8354050 Hydr. Sylinteri 50-30-285-465 Ge30PP (oik/vas) 2
6 2500167 TAPPI D30 - 75 HITSAUS, PASS. 2
7 4500238 YHDYSLEVY PL10 55 x 135 S355J2G3 KELTAPASSIVOINTI 1
8 2501143 NL light kaantorunko HITSAUS |
9 45009218 VALILEVY (SHIMM) PL2 64 x 250 S355J2G3 2
10 352078 Nyloc-mutteri Din 985 Zn Nm20 -836820 . 8
11 8352014 Aluslevy Din 125 Zn M20/ 21 -040720 . 8
12 8352057 Kuusioruuvi 933/8.8zn M20x80 -805720 80 . 8
3 8356005 Rasvanippa M10xI1 4
14 2501145 Tappi HITSAUS ]
15 8352081 M12x16 DIN 916 1

o TARK

by LAMETAL professional




3000133 ( NL2400L TASATERAT)

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 2500775 Tasaterd NL2400light hit HITSAUS 2
2 8352112 LUKKORUUVI DIN 603/10.9 M16X50 . 8
3 8352077 NYLOC MUTTERI M16 DIN 985 ZN . 8

o TARK

by LAMETAL professional




4001120 { Tassu light MODUUL]] S I A R I-<
TEMNO. 068y TASSUN VARST HITSATS o

9 . )
2 8352040 Kuusioruuvi 931/8.8zn M16x100 -805316 100 . ' by LAMETAL professional

3 8352077 NYLOC MUTTERI M 14 DIN 985 7N . '

4 4500880 TASSUN SOKKATAPPI PASS. . 1

5 8352136 Neulasokka Din 11024 B4 . 1

6 2500791 TASSUNLAUTANEN light 235mm HITSAUS 1




6001122 ( NL light keskikumi MODUULI)

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 4500228 Nivelauran keskikumi Light kumi [
2 8352031 Korilaatta Zn 5x20 -04115 20 M5x25 DIN 7985 . 6
3 8352092 Uraruuvi Din 7985 Zn M5x25 -00465 25 . 6
4 8352075 Korilaatta Zn 5x20 -04115 20. 6

o TARK

by LAMETAL professional




6001009 ( HEIJASTIN MODUULI)

ITEM NO.

PART NUMBER

DESCRIPTION

QTY.
] 8510011 HEIJASTINPIDIN 8-2X100X50 kumi ]
2 8355001 Heijastin Halk 60mm Punainen -081231 1 1
3 8355002 Heijastin Halk 60mmkirkas -081231 2 |
4 8352031 Korilaatta Zn 5x20 -04115 20 M5x25 DIN 7985 . 1
5 8352075 Korilaatta Zn 5x20 -04115 20. 2
6 8352092 Uraruuvi Din 7985 Zn M5x25 -00465 25. 2

o TARK

by LAMETAL professional




	Sheet1
	Drawing View2

	Sheet2
	Drawing View3

	Sheet3
	Drawing View4

	Sheet4
	Drawing View5

	Sheet5
	Drawing View6

	Sheet6
	Drawing View7

	Sheet7
	Drawing View8


